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Time : 2.30 Hours] [Max, Marks ;70
l. (A) Discuss the advantages and limitations of Cost Accounting. d _‘ 14
- OR ' '
(A) (i) Explain adi/antages and lilmitatibns of uniform cos_ting; A ® T
(i)  Explain : Behaviourwise classificatioft!of costh L1 . 7
(B)_ Select appropriat‘e alternative : (Any four)”:usé A ke A _ 4
(1) Which costing method is.uséd in soap'making company 7
(@) Process costing ; _. | (b)¢ "Service costing
(c) Jobcosting A (d) ‘Batch costing
(2) Wthh one of the following is not costing method ?
(a) F Absorption costing - (b) Contract costing
(c) \ Unitcost (d) Multiple cost
(3) Which Cost accounting method 'i's used in Pharma- medicine industry ?
(a) Batch costing (b) Job costing
(c) Unitcosting | . (d) Contract costing
(4) Telephone bill is included in which of the following expenses ?
(a) Semi-Variable (b) ' Vanable
" (¢) Fixed - (d) None of the above
(5) What is called when variable and fixed cost is included in Cost Accounts ?
(a) Absorption costing (b) Historical coéﬁng
(c): Marginal costin'g- (d} Standard costiﬁg -
(6) Cost unit of Chemical industry is .
(@) Per litre/gallon/kg. (b) Perton/kg.
(c) Per barrel (d) Perkg./quintal



2. (A) Explain the difference : (Any two) WAL ‘ 14
(1) Bincard and stock ledger of materials
(2) JIT Purchase and Traditional purchase
(3) Penodlcal check and perpetual check of materials
OR
(A) (1) The following are transactions of the material used by one company.
Opening stock on 1-4-2019 was 1,000 units at T 10 per unit. 7

Receipts

Rate| e unit Units

The issues date 4-572019 and 25—5—2019 are pm::ed on LIFO and FIFO
methods respectively. Frof (1-6-2019 it was decided to use weighted
average method, -for pricing issmes:. From the above information prepare

Stock Reglster
(2) ¢From the follnwmg mfonnatmn calculate

'(i) Economic.erdering quantJty
() -Re-ordermg stock level
'\ Giif)) Minimum stock level
| (iv) Maximum stock level |
(v) Average stock level (on the ba51s of EOQ)

(vi) Safety stock level
. (vii) Danger stock level

Three months consﬁmption 1,250 units
Cost of placmg an order 320
" Annual carrying cost per umt W Z5
Price per unit Z 50
_ Ordering (delivery) Period 5 days to 15 days
~ Average daily consumption 15 units
Maximum daily consumption 2"0 units
Maximum time of emergency procurement 4 days

10




(B) Select dppropriate alternative :F(Arly four)

(1) Re-order period : 4 to 8 weeks, Re-ordering level: 20,000 units, th *
’ )L ; » thén what
will be the maximum consumptions ?
(@) 2,000 units (b) 2,500 units
(¢) 3,000 units (d) 5,000 units
(2) Material consumption 4,80,000 units, Opening stock 32,000 units, Closing
stock 64,000 units. Then what will be the material purchase ?
(@) 4,48,000 units (b) . 5,12,000 units
(c) 3,84,000 units () 5,12,000 units
(3) If the minimum stock level and average stock levelfof raw material “A” are
5,000 units and 11,250 units respectively. Find §lit thé écongimic order quantity
(a) | 10,500‘1inits | () 12,500umts
) 11,500units 4" @ 8,250 units
@ Ordéring level = Ave"_rage. Ccinsm;lptioni of Aj'erage Delivery Time=___
@ MaximimLevel / . (b) MinimumLevel
('c)_ - Orc_lering Level (d) Average Level
(5) Abnormal Wastage at its cost price is o |
b % | ta) Included in cost - (b) Charg'edi to Profit: & Loss Alc.
(c) Added to material cost ~ (d) Included in factory expenses
;"'F < (6) In which method stock is valﬁed at a price which is almost nearer to current
market price ?
(a) LIFO - (b) FIFO
(c) Weighted Average (d) Fixed Price Method
3, (A) Write short notes on: (Any two) 4
(1) Direct Labour and Indirect Labour " L
(2) Causes of Labour Turnover rate
(3) Time-rate wage and piece-rate wage methods
(4) Profit sharing plan’ '
OR
- P.ThO.
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(A) (i) Information of a factory for specific month : [
Actual production 1,500 units in 200 hours.

Per hour wage rate ¥ 15

Standard time for production (per unit) 10 minutes
Calculate wages as ﬁgr —
(1) Piece wage pl-':liI!l!
(2) Time wage plan
(3) Halsey wage plan

(4) Rowan wage plan

(ii) From the following '‘information of Naman Ltd. caléillate- labour tumover_,_

rate on the basis of "’
(1) Separation method
(2) Replacement.method (on the bas:s of newly appomted workers)

(3) Flux method . . K | |
(4) Equivalent, Annual turnover rate by all the three methods

Number of workers at the beginning of the year 7,600
Number of workers at the end of the year ) 8,400
Number of workers resigned dunng the yearr - 80
‘ Number of workers retired during the year _ 320
| N umber of workers newly appomted durmg the year . 1,500

(Of which 300 workers were taken under the expansmn plan)

' (B) Select appropriate alternatwe (Any three) )
1431}
(1) The following information has been obtain from the production department

of a factory :
Number of workers at the begmmng of t.he year - -3, 400

Number of workers who left dunng the year — 600
Total appointment during the year — 1000

Number of workers newly recruited — 200

Calculate labour turnover rate by replacement method.

(a) 21.22% (b) 23%
(c) 22.22% (@) 23.22%

12
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(2) The standard time for a particular job is 10 hours, Actual time taken is
8 hours, Wage rate per hour ¥ 50, Direct material cost ¥ 200 and Factory
overheads is recovered at 80% of direct wages. Calculate factory cost

according to Halsey plan.
(a) ¥1,110 (b) 1,030

(€) 1,010 (d 72,010
(3)  Which one of the following is not cnnsiééred as ‘Incentive wage system’ ?
(a) Halsey Plan .‘ |
. (b) Rowan Plan ol
(c) Piece wages systemhu}ith minimum guaranteed wages
(d)  Group bonus or Profit Sharing Plan |
(4)  Which of the following causes is not a genuine cause for “overume work’ 7
(@) Increase in production targets nc;t anﬁcipate&_; ' '
(b) Cuétomez’ s request / pressure for tfgent deliirery.-,
(c) Tempérary Diversion_of labbﬁr force to the inauguration ceremony
arrangements of a new plant. |
- (d) Labour shortﬁ'ge. |
(5) From :whiti:h of th'e fc;llow'ing'.incentive wage system, worker also gets share
imthe profit and management ?
: (5), Profit shaﬁng : (b) Halsey wage system

(c) Co-Partners_hiiE I - (d) Rowen wage system
A il ‘
(A) The Madhav Ltd. has three production departments X, Y and Z and two service

departments M and N. For the {mnnth of April 2019, department expenses are as under : 14

| Particulars

Sundries . Ty
Depreciation on machinery:

4.

Rent and rates Ot

Power
Indirect wages

General lighting

. P.T.0.
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Other Information :

| Production department Service department

15,000
5,00,000

Direct Wages ()
Cost of Machinery ()
Area Occupied (in sq. mts)

H.P. of machines

3,000

No. of Lighting points

Working hours

Expenses of service departments are to be allocated or the basis of following

percentage :

Service Department -M -

Service Department <N

- ‘An‘item cogfls T 250 for raw mterial, % 150 for wages and it takes 6,4 and 2 hours
in department X, Y and Z for completion. From the above int'omation, calculate :

' (1) Dist:ibution of overheads to various c_lepartments
Q) '-Distt'ibution of exeenses of service departmenits to production departments
(3) Find out production rate pet' hour |
(4) Per unit cost of production |
OR ,
(A) (i) Calculate the machine hour rate of maettine No. 555 t'rom the following

) )

information :
(1) Price of machine - 10,72,000
(2) Scrap value of machine - ¥ 76, 800'I ;
(3) Installation charges - ¥ 28,800

: .*l'
g TRy

(4) Useful life of machine — 16 years.

OE-127 14



(5)

(6)
(7)
(8)

- 9)

(10)

(11)

(12)

Rent of the factory per annum - X 76,800

(five other similar machines are arranged in the total space of the factory)
Insurance premium of machine No.555 (per annum) — X 21,440
Power consumption of machine No.555 (per annum) — X 1,92,000 |
Supervisor’s salary (per month) — 2 9,600

(supervisor spends 3/4 of his time in the supervision of all machines
equally) |

Wages of workers (per worker - per month) — ¥ 11,520

(There were 6 workers in the factory who looks after@ll the machines -_
equally) | ' '

Electricity for the factory is half-yearly - ¥ 574600

(Machine No.555 uses 10 hght pomts out of total 30 llght points in
the factory) | | | |
Power consumptibn of machine_h;Io.SSS is 4 units per hour and rate
per unitis - 6 " B 4 I -
Repamng and mamtenancc of machme N0,555 (Durmg useful life) -
T 2,56,000 .

(1) Explain difference Between - Over-absorption and ‘Under-absorption of

.'Ovetheads 4 G _ | ) v/
(B) Select appropnate altematwe (Any three) | 3
A1) " Which methods are used for.Segregation of Semi-Variable Overheads ?
() Simultaneous Equations Method -
(b) Indirect Method
(c) Trial and Errors Method
(d) High and Low poiﬂts Method
(2) Which methods are used for apportioning service dppar;gﬁents expenses ?
(a) Graphic Presentatiion method F A
(b) i.east Square methpd |
(c) Comparison metliﬁd N
(d) Direct method
15 . W . . PTO.
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(3) Contribution to Employees State Insurance Scheme will be apportioned

according to
(a) Indirect labour " (b) Number of workers
(c) Direct labour hour rate (d) Direct labuor

(4) In a factory the fixed ‘expenses allocated to a machine per month are

Z 21,000 and the variable expenses per hour is < 8. Normally the machine

works for 500 hours during the month. The machine was used on a JOb for

200 hours. Ascertain the overhead chargeable to the job.

(a) 8,000 (b) X 12,000‘ \

(c) 15,000 % 10,00
(5) If the pnme cost is T 1,25,000 and Facto ‘DOO then
what will be percentage of factory q‘dt ?

oV
(@) 15%
©) 30% E ! g d 20%
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